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Question #1 [30 points] Numbering and data rep.

A) Using 8-bits pattern and two’s complement, find the answer of the followin@metic operation.

(2C)16— (156)s = (\0 \\\\1 6 )y = (—J&),\ ST [12 points]
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¥ B) The following is a repfesentation for a text in the computer memory. Find out the original word for

this representation, if you know that an even parity was used. [9 points]
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C) Convert the following number to binary (712.6)10=( ! © [9 points]
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Question #2 [30 points] Algorithms
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Write an algorithm that reads the weight and height for many persons; ask the user to input their count.
The algorithm should calculate and display the BMI (Body Mass Index) for each one. Then, your
algorithm should also display the average BMI, the highest BMI, number of persons who are thin (i.e.

their BMI value under 18), number of persons who are normal (i.e. their BMI value between 18 to 25)
and number of persons who are obese (i.e. their BMI value above 25). Finally, calculate and display

percentage of normal people over all persons. ¢~ 0
?

: _ Weight
Use the following formula BMI = Helght? ~3)
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Question #3 [20 points]  Short answers \
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)Xl- What is the function of Presentation layer? [6 points] - 6
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2- What does the following two acronyms stand for and explain the difference between them? ? :
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3- What is the function of Domain Name System (DNS) and explain how it works? [6 points] __(..6
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Question #4 [20 points]

Choose the most suitable word/phrase from the list

Concepts Matching

1y,

in Table-1 that most match the

concept/statement in Table-2 and put its number. See the example at the first row.

Table-1 : List of words

Number Word
1 ASCII code
4 2 Registers
7 3 Bandwidth
1 4 Operating System
£ 5 ROM
4 6 Touch screen
1 7 Unicode 4
8 Set counter to zero
S Dependency on papers
A 10 Reliability
11 Arithmetic and logic unit ALl4
4+ 12 Super computer
13 Central processing unit Y
14 Control unit e
15 Web server computer
16 RAM
17 MS Word
18 If Else
4 19 While loop
20 Hardware o
4+ 21 COMP131

Table-2: List of concepts/statements

No. | Statement

* | The first computer course you are studying in Birzeit University. : 21

* Just as an Example*

1 | The maximum quantity of data that can be transmitted through a communication medium
in a given amount of time.

2 | When starting a computer, the CPU automatically begins executing some start-up
instructions stored in .

allows for more characters to be used in the computer system (i.e.,

Y 4 ’ ‘more than 20,000 characters). K
4 | One of the Fundamental Characteristics of Computers /]
5 | Is powerful but expensive computer; used for complex computations. . l /(/
6 | Directs the computer system to execute stored program instructions. 2 cUL,y’/
7 | High-speed temporary storage areas located within the CPU. L /
% 8 | It is‘re.sponsible for the management and coordination of activities and the sharing of the
limited resources of the computer. {A/%
9 | Is considered as an input and output device. 4 [//
10 | Used in algorithms if we want to repeat one instruction or more several and many times. Cﬂ /
v




